

				Contract II	D Estimate Number	Pay Period Start	Pay Peri	od End	Date Generate	d Estimate T	уре		District	Org. Co
				181214-C02	0006	June 2, 2019	June 15	, 2019	June 18, 2019	PROG			KC	CCL
C	ontractor		Ve	ndor ID	Addı	ress		City	State	ZIP	1	elephone	FA	X
Superior Bowen Asphalt Company, LLC 00		00112	249	520 W Pennway Street Suite 300		Kans	sas City	MO	64108 (81		-6)9-21-8	(81-6)9-21-8	
Job Number Federal/State Project Nun			t Num	ber I	Description of wor	k Route N	umber	Cou	inty	Lo	ocati	ion of work		

J4I3124 I 70-1(207) Coldmill and resurface I-70 JACKSON from E/O Blue Ridge Cutoff to W/W Sterling Avenue		rederaliotate r reject Namber	Description of work	Route Rumber	obuilty	Loodilon of Work
	J4I3124	l 70-1(207)	Coldmill and resurface	I-70	JACKSON	from E/O Blue Ridge Cutoff to W/W Sterling Avenue

Critical Date	Actual Date
Substantial Work Complete Date	0
Physical Work Complete Date	0
Contract Items Complete Date	0
Final Acceptance Date	0
Price Adjustments Base Date	20181214
Letting Date	20181214
Execution Date	20190110
Award Date	20190110
Notice to Proceed Date	20190211
Open to Traffic Date	20190211
Work Begin Date	20190318
Adjusted Completion Date	20191101
Original Completion Date	20191101

Key Date	Subject	Date Contractor Assumed Maintenance

Disturbed Area on Project	Authorized Area on Project	
0	0	Acres

Totals by Job Number				
J4I3124		To Date	Previous	This estimate
	Participating	\$1,099,079.39	\$981,316.19	\$117,763.20
	Non-	\$0.00	\$0.00	\$0.00
	Participating	+	,	· · · · ·
	Total	\$1,099,079.39	\$981,316.19	\$117,763.20
	Earnings Stockpiled			
	Materials	\$0.00	\$0.00	\$0.00
	Gross			
	Earnings	\$1,099,079.39	\$981,316.19	\$117,763.20
	Other	\$25,978.78	(40.711.02)	¢29.690.91
	Adjustments	\$25,976.76	(\$2,711.03)	\$28,689.81
	Retainage	\$0.00	\$0.00	\$0.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated	\$0.00	\$0.00	\$0.00
	Damages			
	Overrun Adjustments	(\$270.00)	\$0.00	(\$270.00)
	Total:	\$1,124,788.17	\$978,605.16	
		ψ1,124,700.17	Total Payable:	\$146,183.01



		Contract ID	Estimate Numb	er Pay Period Start	Pay Period End	Date Generated	Estimate Type		District	Org. Code	
		181214-C02	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG		KC	CCL	
Т	otal Contract										
181214-C02						Тс	Date	Prev	ious		This Estimate
				Line Item Pay		\$1,099,0	79.39	\$981,31	6.19		\$117,763.20
				All Adjustments		\$25,7	08.78	(\$2,71	1.03)		\$28,419.81
				Total		\$1,124,7	88.17	\$978,60	5.16		\$146,183.01

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20190618	Generated and Approved (and should be considered Draft) at the Project Office Level by	slaglv1
20190618	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	sandis1
20190619	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount	Net Change Order Amount to Date	Current Contract Amount	% of current contract amount complete		
\$1,546,072.89	(\$69808.40)	\$1,476,264.49	74.5%		

Contract Adjustments:

oonnaa	Aujuotinon		
	Adjustment Description		Remarks
slaglv1	SuperPave Adjustment	\$10695.85	Lot #1 Payfactor
slaglv1	TSR Adjustment	\$17826.42	TSR 1

Line Iter	Line Item Adjustments:									
Project Number	Line Number	Entered by User		Line Item Adjustment Amount	Remarks					
J4I3124	0060	slaglv1	Asphalt Cement Price Adjustment	\$167.54						
	0280	SYSTEM	Overrun	(\$270.00)	Overrun adjustment created for the following discrepancy: Est Nbr: 0006 Type: El Seq No: 1 Desc: Minor Item J4I3124 exceeds Overrun Limits. This adjustment applies to DWR Date 06/11/2019.	/0280				
	J4I3124			(\$102.46)						
	Summary			(\$102.46)						

Discrepancies:

Discrepancy Message	Resolved By User ID	Remarks
Line Item # J4I3124 /0060 has a deficient tested matl discrepancy	slaglv1	Working with materials to resolve. Work is ongoing and discrepancies will be resolved once it is finished.

June 21, 2019



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type
181214-C02	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG

Discrepancies:

•			
Discrep	oancy Message	Resolved By User ID	Remarks
Minor Item J4I3124	/0280 exceeds Overrun Limits.	SYSTEM	This discrepancy has been automatically addressed by line item adjustment: Est Nbr: 0006 Prj Nbr: J4I3124 Line Item Nbr: 0280 Adjust Type: OVRN Adjust Seq Nbr: 1
Line Item # J4I3124 matl discrepancy	/0110 has a deficient tested	slaglv1	Working with materials to resolve. Work is ongoing and discrepancies will be resolved once the project is complete.
Line Item # J4I3124 matl discrepancy	/0160 has a deficient tested	slaglv1	Need to enter Cert.
Line Item # J4I3124 matl discrepancy	/0170 has a deficient tested	slaglv1	Working with materials to resolve.
Line Item # J4I3124 matl discrepancy	/0100 has a deficient tested	slaglv1	Working with materials to resolve. Work is ongoing and discrepancies will be resolved once it is complete.

1413124	0010 0060	2022010		Price	Paid Quantity	Period	to Date	Estimate
	0060		REMOVAL OF IMPROVEMENTS	\$16414.60	0.30	0.30	0.60	\$4924.38
		4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	\$71.00	0.00	1015.42	1,015.42	\$72094.82
	0080	4019901	MISC. INFRARED SCANNING	\$5250.00	0.00	0.00	0.00	\$0.00
	0090	4019901	MISC. INTELLIGENT COMPACTION	\$28208.00	0.00	0.00	0.00	\$0.00
	0100	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	\$96.90	6132.24	0.00	6,132.24	\$0.00
	0110	4071005	TACK COAT	\$2.10	4565.00	739.00	5,304.00	\$1551.90
	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	\$500.00	0.00	2.00	2.00	\$1000.00
	0170	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVE MENT REPAIR	\$235.00	531.80	0.00	531.80	\$0.00
	0180	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	\$1.15	0.00	0.00	0.00	\$0.00
	0190	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPA IR)	\$1.15	0.00	0.00	0.00	\$0.00
	0240	6161005	CONSTRUCTION SIGNS	\$3.00	16.00	181.00	197.00	\$543.00
	0270	6161025	CHANNELIZER (TRIM LINE)	\$10.00	0.00	122.00	122.00	\$1220.00
	0280	6161030	TYPE III MOVEABLE BARRICADE	\$90.00	0.00	7.00	7.00	\$630.00
	0290	6161040	FLASHING ARROW PANEL	\$550.00	0.00	2.00	2.00	\$1100.00
	0320	6181000	MOBILIZATION	\$124940.00	0.75	0.25	1.00	\$31235.00
	0400	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	\$27.00	0.00	128.30	128.30	\$3464.10
			J4I3124					\$117763.20



	Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
	181214-C02	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG	KC	CCL

Estimate	ltem Deta	il, All Iter	ms to Date	· · · · · · · · · · · · · · · · · · ·				
Project Number	Category #	Line Number	ltem Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J4I3124	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.60	\$16414.60	\$9,848.76
J4I3124	0001	0020	2071000	LINEAR GRADING CLASS 1	17.40	0.00	\$600.00	\$0.00
J4I3124	0001	0030	2079909	MISC. LINEAR GRADING FOR SIDEWALK	0.50	0.00	\$1925.00	\$0.00
J4I3124	0001	0040	2153000	SHAPING SLOPES, CLASS III	13.00	13.00	\$1000.00	\$13,000.00
J4I3124	0001	0050	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	455.00	0.00	\$19.50	\$0.00
J4I3124	0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	2,497.20	1015.42	\$71.00	\$72,094.82
J4I3124	0001	0070	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	101.60	0.00	\$115.00	\$0.00
J4I3124	0001	0080	4019901	MISC. INFRARED SCANNING	0.00	0.00	\$5250.00	\$0.00
J4I3124	0001	0090	4019901	MISC. INTELLIGENT COMPACTION	0.00	0.00	\$28208.00	\$0.00
J4I3124	0001	0100	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	7,263.00	6132.24	\$96.90	\$594,214.06
J4I3124	0001	0110	4071005	TACK COAT	8,881.00	5304.00	\$2.10	\$11,138.40
J4I3124	0001	0120	6057000	AGGREGATE DRAIN	60.00	0.00	\$62.00	\$0.00
J4I3124	0001	0130	6086004	CONCRETE SIDEWALK, 4 IN.	6.00	0.00	\$23.56	\$0.00
J4I3124	0001	0140	6089902	MISC. ADA RAMP	1.00	0.00	\$1288.38	\$0.00
J4I3124	0001	0150	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	25.00	0.00	\$38.05	\$0.00
J4I3124	0001	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	2.00	\$500.00	\$1,000.00
J4I3124	0001	0170	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVE MENT REPAIR	531.80	531.80	\$235.00	\$124,973.00
J4I3124	0001	0180	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	0.00	0.00	\$1.15	\$0.00
J4I3124	0001	0190	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPA IR)	0.00	0.00	\$1.15	\$0.00
J4I3124	0001	0200	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTER NAL SAW CUTS)	2,163.00	2163.00	\$1.45	\$3,136.35
J4I3124	0001	0210	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,102.00	1102.00	\$5.70	\$6,281.40
J4I3124	0001	0220	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTI AL DEPTH PAVEMENT REPAIR	0.00	0.00	\$44.00	\$0.00
J4I3124	0001	0230	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	0.00	0.00	\$137.00	\$0.00
J4I3124	0001	0240	6161005	CONSTRUCTION SIGNS	1,518.00	197.00	\$3.00	\$591.00
J4I3124	0001	0250	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	1.00	\$25.00	\$25.00
J4I3124	0001	0260	6161009	FLAG ASSEMBLY	4.00	1.00	\$25.00	\$25.00
J4I3124	0001	0270	6161025	CHANNELIZER (TRIM LINE)	654.00	122.00	\$10.00	\$1,220.00
J4I3124	0001	0280	6161030	TYPE III MOVEABLE BARRICADE	4.00	7.00	\$90.00	\$630.00
J4I3124	0001	0290	6161040	FLASHING ARROW PANEL	6.00	2.00	\$550.00	\$1,100.00
J4I3124	0001	0300	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CON TRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	4.00	\$900.00	\$3,600.00



Contract ID

)	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	C	District	Org. Code
	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG		кс	CCL

				Contract ID	Estimate Number	. uj : eneu etait	Fay Fellou Ellu	Date Contrated	_ounate .)po			Org. CO
				181214-C02	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG		KC	CCL
Estimate	Item Deta	ail, All Iter	ms to Date	:								
Project Number	Category #	Line Number	ltem Code		Descri	ption		Current Bid + CO	Current Installed to Date	Unit Price	Amo Paio Da	l to
J4I3124	0001	0310	6169902	MISC. ADA COMPLIA	ANT MOVEABLE BA	RRICADE		3.00	0.0	\$50.00		\$0.00
J4I3124	0001	0320	6181000	MOBILIZATION				1.00	1.0	0 \$124940.00	\$124	,940.00
J4I3124	0001	0330	6200015	PREFORMED THER	MOPLASTIC PAVEN	IENT MARKING, 24	IN. WHITE	24.00	0.0	0 \$14.00		\$0.00
J4I3124	0001	0340	6200021	PREFORMED THER	MOPLASTIC PAVEN	IENT MARKING, LE	FT/RIGHT ARROV	4.00	0.0	\$300.00		\$0.00
J4I3124	0001	0350	6205902A	6 IN. WHITE HIGH B L BEADS	IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TY PE BEADS				0.0	\$0.17		\$0.00
J4I3124	0001	0360	6205903A	6 IN. YELLOW HIGH YPE L BEADS	BUILD WATERBOR	NE PAVEMENT MA	RKING PAINT, T	7,729.00	0.0	\$0.17		\$0.00
J4I3124	0001	0370	6205906A	12 IN. WHITE HIGH E YPE L BEADS	BUILD WATERBORN	IE PAVEMENT MAR	RKING PAINT, T	964.00	0.0	\$0.50		\$0.00
J4I3124	0001	0380	6207001	PAVEMENT MARKIN	G REMOVAL			3,035.00	0.0	0 \$1.00		\$0.00
J4I3124	0001	0390	6221001	COLDMILLING BITU IN. THICK OR LESS)	MINOUS PAVEMEN	T FOR REMOVAL C	F SURFACING (3	88,376.00	54730.0	0 \$1.75	\$95	,777.50
J4I3124	0001	0400	6261000A	BITUMINOUS SHOU	LDER RUMBLE STR	IP		240.10	128.3	\$27.00	\$3	,464.10
J4I3124	0001	0410	8051000A	SEEDING - COOL SE	EASON MIXTURES		0.10	0.0	\$22450.00		\$0.00	
J4I3124	0001	0420	8061005	ROCK DITCH CHECK	<		10.00	0.0	\$159.20		\$0.00	
J4I3124	0001	0430	8061006	ALTERNATE DITCH	CHECK		120.00	0.0	\$33.70		\$0.00	
J4I3124	0001	0440	8061019	SILT FENCE				427.00	0.0	0 \$7.45		\$0.00
J4I3124	0010	0450	6061061	MGS GUARDRAIL, 8	FT. POSTS, 6 FT	3 IN. SPACING		600.00	600.0	\$24.65	\$14	,790.00
J4I3124	0010	0460	6061069	MGS BRIDGE APPR	OACH TRANSITION	SECTION (REGUL	AR/NO CURB)	1.00	1.0	\$2646.00	\$2	,646.00
J4I3124	0010	0470	6061080	MGS END ANCHOR				4.00	4.0	\$1000.00	\$4	,000.00
J4I3124	0010	0480	6063014	TYPE A CRASHWOP	RTHY END TERMINA	AL (MASH)		4.00	4.0	\$2646.00	\$10	,584.00
J4I3124	0030	0490	9020811	SIGNAL HEAD, TYPE	E 1S, PEDESTRIAN			1.00	0.0	\$659.00		\$0.00
J4I3124	0030	0500	9020833	SH-FLAT SHEET - S	GNAL SIGN			5.00	0.0	\$46.00		\$0.00
J4I3124	0030	0510	9020834	SIGNAL SIGN, MOUI	NTING HARDWARE			1.00	0.0	0 \$318.00		\$0.00
J4I3124	0030	0520	9022708	POST, SIGNAL 8 FT.	OR 2.4 M			1.00	0.0	\$1357.00		\$0.00
J4I3124	0030	0530	9025300	CONDUIT, 3 IN., TRE	ENCH WITH TRACE	RWIRE		15.00	0.0	\$92.33		\$0.00
J4I3124	0030	0540	9028308	CABLE, 16 AWG 2 C	ONDUCTOR			30.00	0.0	0 \$3.85		\$0.00
J4I3124	0030	0550	9028310	CABLE, 16 AWG 5 C	ONDUCTOR		40.00	0.0	0 \$4.10		\$0.00	
J4I3124	0030	0560	9029100	BASE, CONCRETE				0.40	0.0	\$6390.00		\$0.00
J4I3124	0030	0570	9029902	MISC. ACCESSIBLE	PEDESTRIAN SIGN	AL (PUSH BUTTO I	N)	1.00	0.0	\$2739.00		\$0.00
J4I3124	0030	0580	9029902	MISC. OPTIONAL TR	AFFIC SIGNAL DET	ECTION		2.00	0.0	\$2730.00		\$0.00
J4I3124	0001	5001	4134000	BITUMINOUS FOG S	EAL			0.00	0.0	9 \$4.25		\$0.00
J4I3124	0001	5002	1046002	VALUE ENGINEERIN	IG 75% / 25% PDVE	СР		0.00	0.0	0 \$1.00		\$0.00



				Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type		District	Org. C
				181214-C02	0006	June 2, 2019	June 15, 2019	June 18, 2019	PROG		KC	CCL
Estimate	Item Deta	uil, All Iter	ns to Date	:								
Project Number	Category #	Line Number	ltem Code		Descri	ption		Current Bid + CO	Current Installed to	Unit Price	Amo Paid	
									Date		Dat	te
J4I3124	0001	5003	4030130	ASPHALTIC CONCR	ETE MIXTURE PG 7	0-22 (SP1		0.00	Date 0.0	0 \$64.86	Dai	te \$0.00

ct er	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LM
24	0010	2022010	REMOVAL OF IMPROVEMENTS	20190611	penner1	Curb Ramp at Sterling	0.300	LS		+	0		0		+	0		0	0.248	0.250
	0060	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	20190614	penner1	6/3 paving EB I-70	203.500	TONS		+	0		0		+	0		0	10.223	10.499
			BIT. PAVEMENT MIXTURE PG64-22 (BP-1)		penner1	6/3 paving EB I-70	70.040	TONS		+	0		0		+	0		0	10.651	10.746
			BIT. PAVEMENT MIXTURE PG64-22 (BP-1)		penner1	6/5 paving WB I-70	522.550	TONS		+	0		0		+	0		0	239.302	239.99
			BIT. PAVEMENT MIXTURE PG64-22 (BP-1)		penner1	6/14 paving I-70 to Sterling	219.330	TONS		+	0		0		+	0		0	10.499	0.251
-	0080	4019901	MISC.	20190611	penner1	See Change Order #1	0	LS		+	0		0		+	0		0	9.616	10.833
	0090	4019901	MISC.	20190611	penner1	See Change Order #1	0	LS		+	0		0		+	0		0	9.616	10.833
	0110	4071005	TACK COAT	20190614	penner1	6/3 paving EB I-70	178	GAL		+	0		0		+	0		0	10.223	10.499
			TACK COAT		penner1	6/5 paving WB I-70	385	GAL		+	0		0		+	0		0	239.302	239.81
			TACK COAT	_	penner1	6/14 paving EB I-70 to Sterling	176	GAL		+	0		0		+	0		0	10.499	0.251
	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	20190611	penner1	mobile operation for rumble strips/paint	2	EA		+	0		0		+	0		0	9.616	10.833
	0180	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEM	20190611	penner1	See Change Order #2	0	SQYD		+	0		0		+	0		0	9.616	10.833
	0190	6131013	TYPE 1 OR 5 AGGREGATE FOR	20190611	penner1	See Change Order #2	0	SQYD		+	0		0		+	0		0	9.616	10.833



							Contract ID	E				-		-				Generated		Je				Org. Code		
							1214-C02		0006			June 2, 20		-	ne 15, 20		-	9 18, 2019	PROG				KC	CCL		
inf	orma	tion belo	ow this li	ne is sı	uppler	nei	ntal to th	еE	stimate	e and	d is	s provi	ided f	or c	onfirm	atio	ו of	detail, lo	cation an	d qu	antity	y of	work.			
ct er	Line	Item	Item Des	cription	Da	te	User ID)	Descript Informa			Quantity	Un	its	From	+		Offset	Distance	То	+		Offset	Distance	From LM	То
24	0190	6131013	BASE (4 IN	. TH																						
	0240	6161005	CONSTRU SIGNS	CTION	201906	611	penner1		Temp Trat Control 5/		18	81	SQF	Г		+	0		0		+	0		0	9.616	10.83
			Date	Quantity	From	+	Offs	set	Distance	То		+	Offs	et [Distance	From LM	ו To Ll				Net	Gro	ss Design	ation	Sign	
			20190611	2	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	32.00	180.9		VO20-5a 4 6.00		HT/CENTER/L LANES CLOS	
			20190611	2	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	32.00	180.9		VO20-6a 4 6.00		HT/CENTER/L E CLOSED	.EFT
			20190611	2	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	32.00	180.9		VO4-1R 4 6.00	8x48 ME RIG	RGE (SYMBOL HT)	FROM
			20190611	2	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	12.00	180.9		G020-5aP 3 6.00	6x24 WO	RK ZONE (PL/	AQUE)
			20190611	2	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	24.00	180.9		R2-1 36x4 2.00	48 SPE	ED LIMIT XX	
			20190611	3	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	30.00	180.9		R11-2 48x 0.00	30 RO	AD CLOSED	
			20190611	1	0	+	0		9.616 0)	+ 0	10.8	33			Lanes 2 and	3 closure	6.93	180.9		R1-2 48 T 6.93	RI. YIE	YIELD GORE EXIT			
			20190611	1	0	+	0		9.616 0)	+	0		10.8	33			Lanes 2 and	3 closure	12.00	180.9		2.00 36x	(48 GO	RE EXIT	
	0270	6161025	CHANNELI (TRIM LINE		201906	511	penner1		Temporar Traffic Co	y ntrol	1:	22	EA			+	0		0		+	0		0	9.616	10.83
	0280	6161030	TYPE III MOVEABLI BARRICAD		201906	611	penner1		Temp Trat Control	ffic	7		EA			+	0		0		+	0		0	9.616	10.83
-	0290	6161040	FLASHING PANEL	ARROW	201906	611	penner1		Temp Trat Control	ffic	2		EA			+	0		0		+	0		0	9.616	10.83
-	0320	6181000	MOBILIZAT	ION	201906	611	penner1		Over 50% Contract p		0.	.250	LS			+	0		0		+	0		0	9.616	10.83
	0400	6261000A	BITUMINO SHOULDEI RUMBLE S	٦	201906	611	weathc1		Inside Rur strip of I-7		64	4.300	STA			+	0		0		+	0		0	9.616	10.83
			BITUMINO SHOULDEI RUMBLE S	٦			weathc1		Inside Rur strip of I-7		64	4	STA			+	0		0		+	0		0	239.153	240.3

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field